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(b)Marks are indicated against each question in square brackets. & i&&ﬁ

(c} The candidate is allowed to make Suitable numeric assumptions where%%%ﬁu ed for

solving problems

1. The following data characterises the macroecond%\gj%pngltlons of a hypothetical

economy: { o
. q,,{jw”% (CO2) [3]
Consumption (C)= 100+0.5Y, AN N
o, S

Investment (I)= 70 Rar

Government Expenditure (G)=20 Ta. e

Taxes (T)=10 %,
Find the following:

(a) The equilibrium level of i mca.tpe s

(b) If lump sum taxes ingrogse by\20 (i) what is the equilibrium level of income, and (ii) lump
sum tax multiplier? & i S

(c) If government expend1ture decreases by 5, what is (i) equilibrium level of income, (ii)
Government eexps : :iitﬁr; i‘hultlpher?
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2. §ugpose an economy is characterised by the following functions: (CO2) [5]
C= ] 0Q"+ 0°8.Yd

e
T
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Find the following:

(a) The equilibrium level of income.
(b) How much increase in income will take place if government expenditure on goods and
services increases by Rs. 60 crores?

(c) Find the tax multiplier and government expenditure multiplier?

3. ‘In Keynesian model of income determination, equilibrium nation
necessarily established at full employment level’. Discuss. @\
4. ‘Liquidity trap is the preference for unlimited idle cash balance
falls much below the ‘normal’ level’. Explain the state '@ context of Keynes
liquidity preference theory of demand for money. n%b (CO3) [5]

(CO3) [5]

n&he rate of interest

5. Write short notes on any ene of the following:

(2) H-Theory of money supply
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